


Experiment

® Please fill out a slip

® For each musical example,

rate how hard it is to understand what is going on,

on a scale from 0 to 10:

0=

0

Very easy 10 = Very hard

1 2 3 4 5 6 /

8 9

10




Example 1

Rate how hard it is to understand what is going on,
on a scale from 0 to 10

0 = Very easy 10 = Very hard

0 1 2 3 4 5 6 / 8 9 10




Example 2

Rate how hard it is to understand what is going on,
on a scale from 0 to 10

0 = Very easy 10 = Very hard

0 1 2 3 4 5 6 / 8 9 10




Example 3

Rate how hard it is to understand what is going on,
on a scale from 0 to 10

0 = Very easy 10 = Very hard

0 1 2 3 4 5 6 / 8 9 10
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FPitch

Example 1
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Pitch
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Pitch

Example 2
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) Example 3
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Study No. 11






